a* =34
P={2+a)
@D 2

® 10



0] QRG] AR

(14 x+x)2(1+x) + (14 x+ x* + x3)3

D 3

® 4 3 5 @ 6




3. 99 %101 x (1002 4 100 + 1) x (1002 — 100 + 1) AAFSFH?

® 1008 -1 @ 100¢ +1 ® 100° -1

@ 1002 +1 ® 1



1 1
4. 2+ 5 =Ux>09d 2+ 5 o FH2?
X X

@D 36 ® 44 ® 52 @ 68 ® 82



5.  0°] ofd Al x,y,zoll tiot x,y,z% A= stH= 6011, x,y,z

A o], 2(x +y+2) 9] g2 FoFH?

@D 6 ? 12 3 14 @ 16 B 18



6. AMAFTabc’tat+b+c=3 a2+b*+c*=9, P+ +3=24
E WAL o, ot + bt + ¢t +19] G FotH?

@D 69 @ 70 ® 71 @ 72 B 73



7.

a+b=1, a®2+b*=

D -2 ® -1

10l 2000 | 52006 o
19 ), a + b2006 o] ZFo9

3 0 @ 1



